TU3-314 : YITHT TS Wieet Gifea T 9 ‘C’ eias
M3-R4 : PROGRAMMING & PROBLEM SOLVING

THROUGH ‘C' LANGUAGE
Im|fy : 03 " StfereRan 31 : 100
DURATION : 03 Hours MAXIMUM MARKS:100
SNTHINR viiE H. :
OMR Sheet No.:
AT, . SeR-Yfee . :
Roll No. : Answer Sheet No.:
wremelt T A ¢ Tremelt o TETer
Name of Candidate : ; Signature of Candidate :
ﬂ'ﬁ'&iTF of it o f?m ﬁi‘ST : Instructions for Candidate:

FUAT TTA-GehT, STTHSR M T Sa-GRehl 7 T3 T
el o1 emgdes Ug |

Carefully read the instructions given on Question Paper,
OMR Sheet and Answer Sheet.

- YRt fewt T sl wron # ¥ 1 qdveneff S feran &
e foredt oft Tk 9T oh1 S S TRl § | (37T, a1 < fe=t
EICDEID)

Question Paper is in Hindi and English language.
Candidate can choose to answer in any one of the language.
(i.e., either Hindi or English)

T4 HISA/ TR F § W E | W T H =R T 3R 9
FHAE I T |

There are TWO PARTS in this Module/Paper. PART ONE
contains FOUR questions and PART TWO contains FIVE
questions.

T Uek ' Ihfeush '’ YRR 1§ FEeh T i 40 § qen
YT &1 AR YRR AT 7 SR 3T Fd 31 60 T |

PART ONE is Objective type and carries 40 Marks.
PART TWO is Subjective type and carries 60 Marks.

U Ueh o SR, ATHAR IAE-Yfert R & g 91 §)
URT S ! ITR-FehT H W Teh & ST & 63 ST =Ted |

PART ONE is to be answered in the OMR ANSWER
SHEET only. PART ONE is NOT to be answered in the
answer book for PART TWO.

T ek o foTQ Afeehan S0 S Wes guet Hyiia =t T8
B T S T WG], WNT Tek i ST-YReaaht STHT
A o qYER o SO | qerty, FHeiRa w ue | 9
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Maximum time allotted for PART ONE is ONE HOUR.
Answer book for PART TWO will be supplied at the table
when the Answer Sheet for PART ONE is returned.
However, Candidates who complete PART ONE earlier
than one hour, can collect the answer book for PART TWO
immediately after handing over the Answer Sheet for
PART ONE to the Invigilator.
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Candidate cannot leave the examination hall/room
without signing on the attendance sheet and handing over
his/her Answer Sheet to the Invigilator. Failing in doing
so, will amount to disqualification of Candidate in this

Module/Paper.
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After receiving the instruction to open the booklet and
before starting to answer the questions, the candidate should

ensure that the Question Booklet is complete in all respect.
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Note : In case of any discrepancy found in Hindi version, English version will be treated as final.
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DO NOT OPEN THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.




1.1

T T / PART ONE
(it WAl ok IS/

Answer all the questions)

ol Uedieh W9 oh SAY ok oh [9ehed 1T T
¥ Tk TR Suge fashed = 3 S8 wee
UF & G U hI T SArHSm
I WA H, 36 fqu e fden & e,
Sad

Each question below gives a multiple
choice of answers. Choose the most
appropriate one and enter in the “OMR”

answer sheet supplied with the question

paper, following instructions therein.

(1x10)
'C' Afteet ol feice CRS FaT™
7
(A) &
(B) wfe=w
(C) TFEe
(D) USEX

The default storage class of a 'C' variable

(A) Auto
(B) Static
(C) Extern
(D) Register

1.2

1.3

‘C" ¥ sizeof() FE?
(A) TR

(B) heRM

(©

(D) T & *E T
What is sizeof() in C ?
(A) Operator

(B) Function

(C©) Macro

(D) None of these

extern int i;
i=20;
printf("%d", sizeof(i));

return 0;

(A) 20

(B) 0

(C) Undefined reference to i

(D) Linking Error
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1.4 main()

1.5

{

int x = 10;
{
intx =0;
printf("%d",x);
}

}
(A) 10

(B) Compilation Error
© 0

(D) Undefined

1S 1 BT =1 ?
void main()

{

inta =10/3;
printf("%d",a);

}

(A) 3.33
(B) 3.0
© 3
(D) 0

What should be the output ?

void main()

{

inta =10/3;
printf("%d",a);

}

(A) 3.33
(B) 3.0
©)

(

3,
3
D) 0

1.6

1.7

"int (*ptr)[10]" & ST T A § ?
(A) ptr 10 quifeRl st TR dfged o1 TH W

(B) ptr 10 YuIferl < Teh T 1 TR Teh UgeX
g

© ptrlOWW@@%
(D) ST %A
What do you mean by "int (*ptr)[10]" ?

(A) ptr is an array of pointers to 10
integers

(B) ptr is a pointer to an array of 10
integers

(C) ptris an array of 10 integers

(D) Invalid statement

frfafea § 9 -1 difsiehel 37T et
772

Which of the following is not logical
operator ?

(A) &
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1.8 fo=-%g e ¥ fHfafad § 9 wF-m
= el fordn ST TR & 2

1.10 =1 =i & o qoaisd &1 98 %4

Frfafed 5 €S-8 2
(A) Character e

(B) Integer
z=x+y*z/4%2-1

(C) Float
(D) enum

. . (A) */ %+
Which of the following cannot be checked
in a switch-case statement ?
(A) Character B) =*/%+-
(B) Integer
(C) Float C) /*%-+=
(D) enum

(D) *%/-+=

1.9 CH, I 319 forelt TR o AF[He o &9 |

T TH T FAE, @ H T Which of the following is the correct order

¢ of evaluation for the below expression ?
(A) W uferdicd i 97

(B) T e Tfere z=x+y*z/4%2-1

(C) W& snfad wfedie w1 g

(D) T AT T (A) */ %+-=

In C, if you pass an array as an argument
to a function, what actually gets passed ? (B) =*/%+-

(A) Value of elements in array
(B) First element of the array (C) /*%-+=

(C) Address of the last element of array

(D) Base address of the array (D) *%/-+=
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2.1

2.2

2.3

2.4

2.5

2.6

2.7

2.8

2.9

2.10

e fera e wedren feremor o < W ¥ Sreren
T | Teh oy U faehed o 3 39
9 U o AT ST T ¢ SATHAR
I YA H, Sud feu T FEEh o TN,
Sead
T TR % h3 TSHRNTH B Thd €, olfeh

TR el Tk Bt B

(1x10)

e wetic § Shaet Shiaed a1 3SR 1 ST
foran < Heha B

#define ! TTUTUET hUTSeR SIEifaed hal SIIdl
gl

sizeof () Uh TR § S AIRUsIet &% FIEst i
IE HLAT B |

malloc HRM 1 e YR ae 71

= %1 3TANT Gl < oI B &, Safeh, ==l
IYENT € AT o STHEHE o foT B B

A i TSI hT GURA & forw < i
S G T STell ST Hehall © |

iy Shiee 1 STAN U i Teh TG i
Bre & fere feman < 1

faem & foau Qe T T Twd § @ AR
TS I WU i Afeifed R fear s

printf() HeRM o foTT weh et H wite specifier
%b I ST Teh YUIieh o ST HHRE
fife 1 % o foran s @ 1

2.1

2.2

2.3

2.4

2.5

2.6

2.7

2.8

2.9

2.10

Each statement below is either TRUE or
FALSE. Choose the most appropriate one

and ENTER in the “OMR” sheet

attached to the question paper, following

instructions therein. (1x10)

A function may have several declaration,
but only one definition.

Only character or integer can be used in
switch statement.

#define is known as preprocessor compiler
directive.

sizeof( ) is a function that returns the size
of a variable.

The return type of malloc function is void.

= is used for comparison, whereas, == is
used for assignment of two quantities.

Blank spaces may be inserted between two
words to improve the readability of the
statement.

Continue keyword is used to skip one
iteration of loop.

A file opened for writing already exists its
contents would be overwritten.

In a call to printf() function the format
specifier %b can be used to print binary
equivalent of an integer.
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3. whtem X U fou T gl 3ii arerdt okt e i Y ® fou o fenean wsifia ereh / vredi /
TRl ARt | 31U faehed e U o arer feu e ¢ efume i S s W, Sad fau y sreen

T T i §T, T ahi | (1x10)
X Y
feg wHe w3 YA ED
3.1 A, |[W
fere foran ST &
3.2 |cEsdt e fflush() 1329 ¥ B. |Udt %o
33 [gamAquE C. [ il <k Sfrgan @
3.4 |fseek D. @%mﬁ@@amﬁ
qferfdd s s
3.5 |strcat() E. ﬁ:{@éam
3.6 [TEUSHIET F. [|faffdse ot o1 faemr e
3.7 |'C' 9™ # exit (0) <91iar & G. [TSR fewEe erel TRy
3.8 |CH g H. |TfFR e
& Haf 5
3.9 HHHE Yh R WSIdIEh—[H‘;L‘é ISEEA L @WWW
Hmfesh T8 Bl |
s ; T TR BEA & 9 TG
3.10 O H T e =9 Fo T3eX 1 fopdt fafyme T
T |y e S R J. e R
T & ST
K. [gAfdee €21 YR
L. |<l->
M. |/*
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3.  Match words and phrases in column X with the closest related meaning/ word(s)/phrase(s)

in column Y. Enter your selection in the "OMR" answer sheet attached to the question

paper, following instructions therein. (1x10)

X Y

3.1 [switch statement is often used for A. |Array

3.2 |The purpose of library function fflush() is | B. |Entry control

3.3 |Do while Loop is C. |[joins two strings

3.4 |fseek Converts a data type to

another data type

3.5 |strcat() E. |menu selection

3.6 |Typecasting F. |To clear the specified buffer

3.7 |exit(0) in a 'C' program represents G. |User defined data type

3.8 |[Unionin C H. |Exit control

3.9 |group of related data of same type that I. |Termination of a program

share a common name
3.10 |To insert the comments in the program J. |to move file pointer associated

this symbol is used

with a given file to a specific
position

K. |Inbuilt data type

L. [<!l->
M. |/*
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4. 9 U 9 B A § TE g O Ueh 916E A1 91 i faed & forg Raa e ¥ wew
U foened o i S/ U9 U o Wi feu T ¢ Sfumei’ ! ST vk W, Sud f9u T 3t

% UK, T3 H | (1x10)
A. |39 B. [ ua.ta NULL | C. |or
D. |ycamEdd E. [SE= F. |[dEs (void)
G. [TdEa H. [dlika I [wi=
|BREED K. |and L. [ad 9 el
M. | § ¢
4.1 woHe sfqay o stuan faa & ae farrer 21
4.2 9 HIE HRM G Hl IR-IR Hidl Y q 39 Fed B
4.3 e 1 3TN 3R F ST oAt T Ug= & faag o S 1
4.4 YI& TG0 H FF & Y AT feopa ST ©
45 W TEY 1 S FFR T |
4.6 TheRM % et Hifta aftTee i IRset el ST B
4.7 3TToRe At TEH BT © o S STied el B ¥ |
4.8 3fc freht therm e 29 =i =i o fem 7o § o 9 1 9oy WA e R TRl |
4.9 T THRed 1 gfes 90 §1
4.10 s++ I Haga |
4. Each statement below has a blank space to fit one of the word(s) or phrase(s) in the list

below. Enter your choice in the “OMR” answer sheet attached to the question paper,

following instructions therein. (1x10)
A. |index B. |NULL C. |or
D. |recursion E. |derived F. |void
G. |global H. (local I. |flowchart
J. |break K. |and L. |left toright
M. [right to left
4.1 The statement causes an exit from the innermost loop or switch.
4.2 When a function calls itself again and again, it is called
4.3 The value is used to access the data element of an array.
4.4 Each string is terminated with character.
4.5 Array is type of data type.
4.6 A variable declared inside a function is called variable.
4.7 The operator is true only when both the operands are true.
4.8 If a function return type is declared as it cannot return any value.
4.9 is a pictorial representation of an algorithm.
4.10 s++ has associativity
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W &1 / PART TWO

(Ter=ei =X o=l o SRS/

Answer any FOUR questions)

I ISTEL0T ok TN C IR H Al
A SATHE T T e |

Sk AT hie=] o oife R T Al |

< Tl HE 19y 1 e 9 Sied
foT @ 'C v g |

Explain the command line argument
in C programming with suitable

example.

Differentiate between break and

continue.

Write a 'C' program to check
whether given number is prime or

not. (5+5+5)

=1 e =t fife # & foe suge 'C
T fod

*%
*kk
L
Fxkkk

C # IFaT SRR i STgH 3
& 1Y RS Y|

‘WaRNE? 'C'H T SHHHTA §eR W

& feaelly™ iR sHfaIaEsisE i

U IS oh T AT e |

Write a suitable 'C' program to print
the following pattern :

*

*%
hkk
hkhkk

hhkkk

Explain about union datatype in C

with suitable example.

What is an array ? Explain
declaration and initialization of two
dimensional integer array in 'C' with

suitable example. (5+5+5)
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Teh B &t SR (AW, e 3R 37h)
%1 HUfed wE & fae e qum ford
3R W aad o1 ITANT ek BhiA |
EENGEETS

TIF & foIq T ISR i T 9
T-9EA U AR IEA U H FAN T
F|

T SR URe SHiH SR TE T
ST = IS oh T AT X |

Write a program to store the
information (name, roll and marks)
of a student and display it on the

screen using structures.

Differentiate between do-while loop
and while loop with the help of one
example for each.

Explain about pre and post
increment operator and the ternary
operator with example.  (5+5+5)

TR SR 1 € ? &H 3! ST
i 2 fafu= e & F e o
AT |

forelt e & ShaRifaret &1 o & fau

T anfda werm foag |

What are preprocessor directions ?
Why do we need them ? Explain

various preprocessor directives.

Write a recursive function to

compute factorial of a number.
(8+7)

Teh TIZA o shed ol GHY igal | hidl
FH & fau 'C g ford |

fr=fafEa s =amen & ;

() Tl IRwea

(i) A aRTaa

(iii) TR ARTaaA

X Sl ITANT hld gC W H o aet
& e o fore we e ford |

Write 'C' program to copy content
of one file into another file.

Explain the following :
(i)  static variable
(i) auto variable
(iii) register variable

Write a program to find
greatest number in array using
pointer. (5+6+4)

-000-
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